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23·26= (2ху-1)3= 

3·34= 2,5·𝟏𝟏𝟏𝟏___=0,025 

28·2-5 7·7·7-5= 

(а3)4= 4-10:4-8·43= 

(𝟐𝟐
𝟑𝟑
)5= 2:10-3= 
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𝟑𝟑𝟑𝟑 ∙ 𝟑𝟑𝟎𝟎

𝟑𝟑−𝟐𝟐
= 

(𝟐𝟐−𝟏𝟏)−𝟐𝟐 ∙ 𝟒𝟒−𝟑𝟑

𝟖𝟖𝟐𝟐
= 

(𝟓𝟓
−𝟒𝟒∙𝟐𝟐𝟐𝟐𝟐𝟐

𝟏𝟏𝟏𝟏𝟏𝟏−𝟏𝟏
)2= 

(−𝟔𝟔)−𝟔𝟔 ∙ 𝟑𝟑𝟑𝟑𝟐𝟐

𝟔𝟔𝟖𝟖
= 

2х=84х+3 8·2х-1=42х-2 

32х= 𝟖𝟖х

𝟐𝟐х+𝟑𝟑
 82x=43x·2x−1 

Што е поголемо:  
28 или 82? 

Пресметај:  
3,3·103·8,4·10-6 
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100·(-2)3+3,4·(-2)2-0,3·(-0,3)2= 0,8·102+2,5·103-36-2,8·10= 

3·52+43-5·73= 16·(𝟏𝟏
𝟐𝟐
)𝟑𝟑-9·(𝟏𝟏

𝟐𝟐
)𝟒𝟒+320·(𝟏𝟏

𝟒𝟒
)𝟒𝟒= 

8·2-4+16·(-𝟏𝟏
𝟐𝟐
)5= 𝟐𝟐−𝟖𝟖

𝟐𝟐−𝟑𝟑 + 𝟐𝟐−𝟒𝟒
= 

( 𝟓𝟓−𝟑𝟑

𝟐𝟐𝟓𝟓−𝟕𝟕
)−𝟏𝟏= 16-1/4+4-2= 

4n=0,25 
𝒕𝒕𝟒𝟒𝒕𝒕−𝟓𝟓

(𝒕𝒕−𝟐𝟐)−𝟑𝟑𝒕𝒕−𝟒𝟒: 𝒕𝒕−𝟖𝟖
= 

 


